COMMON APPLIANCES
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An electrical conductor lets electricity pass through. DANGER! HIGH VOLTAGE!
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safe. Be careful of mains switches, open
sockets and any signs to do with
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" electricity. The human body is 80%

@O_ é SWITCD An electrical insulator does not let electricity pass water so it conducts electricity. If

someone has had a shock always turn
the electricity off first, then call for
help!

1.) If you make the wires longer, the
bulb will get dimmer. This is because
there is more resistance.

2.) If you add more bulbs, the bulbs
get dimmer. This is because there is
also more resistance.

3.) If you add more batteries, the
bulbs will get brighter. This is
because there is less resistance and
a greater current.
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